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Orden de Operaciones (J)

Realice las operaciones en el orden correcto.

77,38 484,44 34,68 5,07+ 1,05

. 71-29,82—(1,23+79,92 —63,63)

. 94,054-45.2 441,64 +43,86 4 65,69

. 89,01 — (66,68 +21,93 —56,65) + 1,2

. 76,46 — (82,13 —78,25) — (85,93 — 13,51)
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Orden de Operaciones (J) Answers

Realice las operaciones en el orden correcto.

77,38 484,44 34,68 5,07+ 1,05
— 192,44

. 71-29,82—(1,23+79,92 —63,63)
—23.66

. 94,05+45,2+ 41,64 +43,86+ 65,69
= 1290, 44

. 89,01 — (66,68 +21,93 —56,65) + 1,2
— 58,25

. 76,46 — (82,13 —78,25) — (85,93 — 13,51)
=0,16
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